ASSEMBLY INSTRUCTIONS

ITEM NO: 195- S099-632/533/401

DESCRIPTION: FULL UPH BED - SERENA
YTH ROSE QUARTZ

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts
that may have come loose inside the carton during shipment.

HARDWARE LIST: TOOLS REQUIRED (NOT PROVIDED)
No. Description Sketch Size Quantity Description Sketch
1 Flat washer #5/16"x19x 1.5mm| 6 pcs N
Screw Driver S=—.
2 Lock washer <> ®5/16" 6 pcs
3 Allen bolt ) mmm ®5/16"x1-3/4" 6 pcs PARTS LIST:
— No. Description Sketch Quantity
4 Allen key 4mm 1 pc
E———0
A Headboard Panel 1 pc
5 Wood screw Bvo #8x35mm 8 pcs
6 | Flat washer $1/4"x19x 1.5mm | 4 pes B Left headboard leg I pe
7 Lock washer = ®1/4" 4 pes C Right headboard leg 1 pc
8 Allen bolt D ®1/4"x35mm 4 pcs D Footboard Panel % 1 pc
E Foot (@- 2 pes
F Side Rails B 2 pes
G Slats — | 4pcs
STEP 1 H Support leg — 4 pcs
Bottom parting rail / 1 pc

T STEP 3
\ - /
- N
x\ / \\
\\;T/( 5 2) |
<___- \ /)

MADE IN VIET NAM

EXCLUSIVE AMERICAN SIGNATURE DESIGN-DO NOT REPRODUCE WITHOUT WRITTEN PERMISSION

Page 1 of 1




ASSEMBLY INSTRUCTIONS
ITEM NO: 195-S099-450

DESCRIPTION: NIGHTSTAND - SERENA YTH ROSE QUARTZ

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts

that may have come loose inside the carton during shipment.

TOOLS REQUIRED (NOT PROVIDED)

Description

Sketch

Screw Driver

@h

PARTS LIST:

No. Description Sketch Quantity
A Nightstand 1 pc
B Bun foot 4 pes

STEP 1

MADE IN VIET NAM

EXCLUSIVE AMERICAN SIGNATURE DESIGN-DO NOT REPRODUCE WITHOUT WRITTEN PERMISSION

Page 1 of 1




ASSEMBLY INSTRUCTIONS

ITEM NO: 195-S099-410

DESCRIPTION: DRESSER - SERENA YTH ROSE QUARTZ

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts

that may have come loose inside the carton during shipment.

ANTI TIPPING HARDWARE KIT LIST

TOOLS REQUIRED (NOT PROVIDED)

1 Keyhole slot 2 pes
2 @ Tipping Restraint| 1 pc
3 P Longer screw 1 pe
4 S Shorter screw 1 pe

STEP 1

Description Sketch

Screw Driver %
PARTS LIST:
No. Description Sketch Quantity
A Dresser 1 pc
B Bun foot 4 pes
C Center support I 1 pc

MADE IN VIET NAM

EXCLUSIVE AMERICAN SIGNATURE DESIGN-DO NOT REPRODUCE WITHOUT WRITTEN PERMISSION

Page 1 of 1




ASSEMBLY INSTRUCTIONS
ITEM NO: 195-S099-410/430
DESCRIPTION: DRESSER - SERENA YTH ROSE QUARTZ/

MIRROR - SERENA YTH ROSE QUARTZ

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts

that may have come loose inside the carton during shipment.

ANTI TIPPING HARDWARE KIT LIST

1 Keyhole slot 2 pes

2 @ Tipping Restraint | 1pc

3 D Longer screw 1pe

4 S Shorter screw Ipe
HARDWARE LIST:

No. Description Sketch Size Quantity
5 Allen bolt G | #1/4"x35mm 8 pcs
6 Lock washer = ®1/4" 8 pcs
7 Flat washer ®1/4"x19x 1.5mm | 8 pcs
8 Allen key E‘) 4mm 1 pc

TOOLS REQUIRED (NOT PROVIDED)

Description Sketch

Screw Driver S=gp— .
PARTS LIST:
No. Description Sketch Quantity
A Drawer Dresser 1 pc

. =

B Mirror support - 2 pes
C Mirror @ 1 pc

MADE IN VIET NAM

EXCLUSIVE AMERICAN SIGNATURE DESIGN-DO NOT REPRODUCE WITHOUT WRITTEN PERMISSION

Page 1 of 1




	SERENA YOUTH 5PC FULL BDDRM W DRESSER-MIRROR
	SERENA YOUTH 195 S099 FL G  FULL BED 1800078
	SERENA YOUTH 195 S099 410 G DRESSER-MIRROR 1799878 1800124
	SERENA YOUTH 195 S099 410 DRESSER 1799878
	SERENA 195 S099 410 G DRESSER MIRROR 1800124


	SERENA YOUTH 195 S099 450 NIGHTSTAND 1799886

